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Part - III Time : 2% Hours
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General Instructions to Candidates :
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~
There is a ‘Cool-off'time’ of 20 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions careful‘ly before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.’

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer the following questions from 1 to 41 up to a maximum Score of 80.
Questions from a to / carry 1 score each. (12x1=12)
(@) Who is the founding father of modern economics ?

(i) ~ Adam Smith (i) J.M. Keynes

(iii)  Alfred Marshall ‘ ~ (iv)  Paul A. Samuelson

(b) ‘Problem of Choice’ arises out of
(i) Scarcity of resources ~ (i)  Abundances of resource

(i) Limited wants _ (iv) Growth of resources

(c) Want satisfying capacity of a commodity is known as
(i)  Demand (i)  Supply
(iii)  Utility ~(iv)  Production

(d) - The difference between gross investment and depreciation is
(i) = Inventory (i)  Saving

(1ii) Consumption (iv) Net Investment

(e) Total revenue per unit of output is called
(1)  Marginal Revenue , (). Total Revenue

(iii) Total Cost '(iv) - Average Revenue

()  Supply remains constant and demand declines, the equilibrium price
(i)  Constant (i) Decreases

(iii) Increases (iv) First increases then constant

(g) Central Bank of India is :

(i)  Reserve Bank of India (RBI) (ii)  State Bank of India (SBI)
(iii) Canara Bank (iv) Indian Bank

(h)  Which among the following mentions the concept of Average Propensity to
Consume (APC) ?

0 = Gy 23
o o ,orielg
(iii) ? (iv) v

.35 2




1 2)®@3 41 QIHOW)BS G213 1BdEe a1oa0aiull e1€len)s 80 capod @R Rldlen)o.

a a)m@3 [ Q19083 6210BLEBUIES QOMOOAYL®)d:. 1 capod afloo. (12 x1=12)

. (2

(b)
| (©)
(d)
(e)

®

(3]

(h)

ME-33

@RYW)Md aLOMUOD D Uootn(};(om%mg aflooal @y ?

(i) @RWo Male ‘ (i) o®R.afpo. sBRMBaV

(il) @RI RO BOBaHD (iv) Galo@ ag). MLOMGCAIMIAVE
afleaIamaes ‘OmaNTISial’ af)am (lUBMo O@EANBNIM® :

(i) alleaiang)es aodelelo (i) alleuemnges Tva \aul

(iii) aC@RA0W @RYAIUD JCeldal (iv) afleaiang)os aIgBa

@ADL ©YiBIOa|SIOTOMSS B0} aimioallen &l @Ol M® :
(i) ©aloBMo ' (il) (IBOMo

(ili) QalW)B® (iv) 2e/08Mo

HROTMo MESHUAII) COHWROMAL) ®AIENSS Al {OaLA0ETY

() edeaadd (i) ovmIoBke

(i) DalcEOo | (iv) @ogmlessialo

80) 20® (@)lg) eejmoicd MIaM)88 @RYES QUMD aNgleym :

(i) cflacam AIE@OMe (ii) ©POBMe AUUOYRIMo
(ili) @O OalelQl (iv) ©PEOUVDEl AlE)@OMo

(IBOMo MuAlEA0@lenEMI0Ud GaldBMe @)0amoas auamelle afles :
()  cudleacxldane ;
(ii)  @oam

(iii) dWlenymm;

(iv) @nayp adules)d@)o aflarils’ Ll e@0d)d@)o H21QRAN}

sHam el ece;@ N0, :

() dlavdg)emios; 80al MY (RBI) (ii) Gg};g'aupaai &0a0 snamy (SBI)

(ili) @OMOO 6TI0Es (iv) epamyd enioes

anaies  meialalg)esaiolcd D@ Dalceow (lammew  (APC)
aujallaflee)mM@ ag@ ? !

; AC e A

B =5 () -5

s - € . S

1 == v S

(i) 5 () .5

3 P.T.O.



M

(i) Two sector economy includes
(i)  Firms and Government (i) Firms and Households

(iii) Firms and External Sector (iv) Households and Government

. ()  The market structure in which there are only two sellers is called
(i)  Monopoly (1) Perfect competition

(i1i)) Duopoly (iv) Monopolistic competition

(k) What does a point inside the production possibility frontier represent ?
(i)  The maximum use of resources (i) Under utiliszation of resources

(iii) The over use of resources - (iv) The optimum use of resources

()  Identify ‘Capital Receipts’ from the following
(i)  Personal Income Tax
(i)  Service Tax
(iii) ~Sale of shares in Public Sector Undertakings

(iv) Customs duties

Questions from 2 to 13 carries 2 scores each. (12 x2=24)

Complete the table given below :

Factors of Production Remuneration

Land

Labour

Capital

Organisation

Write any two features of ‘Centrally Planned Economy’.

Recognisbe the type of utility analysis from the following statements.
(a) The level of utility can be expressed in numbers.

(b) The level of utility can be expressed in rank.
E-35 4
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5. Classify4 the following into consumption goods and capital goods

(a) Food (b) Implements
(c) Machines (d) Clothing

6. What do you mean by ‘Long Run’ in production function ?

7. Write any two reasons for rightward shift of demand curve.

|

8. List out the four major sectors of the economy.
9.  What is ‘final goods’ ? Give an example.
|
|

10. Distinguish between Marginal Propensity to Consume (MPC) and Marginal Propensity
to Save (MPS). :
11. Write any two factors which determine price elasticity of demémd.
12. What is the difference between ‘Devaluation’ and ‘Revaluation’ ?
13. Define ‘Break even point’.
(10 x 3=30)

Questions from 14 to 23 carries 3 scores each.

14. What are the basic economic problems of an economy ?

| 15. Define substitute goods. Give two examples.

16. Write any three features of ‘Perfectly Competitive Market’.

17. Write a short note on ‘ex-ante’ and ‘ex-post’ concept with suitable examples.

ME-35 ’ 6
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18.

19.

20.

21,

22.

23,

24,

Complete the chart given below :

Different types of Budget

A. | Revenue | > | Expenditure | =

B. | Revenue | < | Expenditure | =

C. | Revenue | = | Expenditure | =

Prepare a brief note on intermediate goods with suitable examples.

List out the profit maximising condition of a firm in a perfectly competitive market.
List three different ways ih which ‘oligopoly’ firm may behave.

Write any three impacts of the Great Depression of 1929.

Explain the concept of liquidity trap.

Questions from 24 to 31 carries 4 scores each. (8'x 4=32)

Observe the following diagram which shows circular flow of income.

A. ' )
f( B. Goods and Services 1

Firms Households
k C. Factor Income J
D. ),
(a) What does ‘A’ and ‘D’ indicates ? ' v )

(b) Identify the methods of National Income calculation corresponding to ‘B’ and
9oL . )
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26.

27

28.

29.

30.

31.

32

Analyse the effect of changes in consumption and investment on Aggregate Demand.
What is fIndifference Curve’ ? Write three features of Indifference curve.

Observe the'diagramy given below :

Price Price
SS SS
L
p* P
P, / \
DD : DD .
Qty. Qty.
ql 4% g q) a* @
A , : (B)
(a) Identify the diagram which shows price floor and price ceiling. 2)
(b) Whatis price ceiling and price floor ? 2)

Write any two objectives of government budget. Explain any one of them.
Differentiate ‘Balance of Payments" and ‘Balance of Trade’.
Write a brief note on different types of price elasticity of supply.

What is monopoly ? Write any three features of monopoly market.

Questions from 32 to 37 carries S scores each. ; , (6% 5=130)

Various concepts are given in Column-A. Match them suitably with Column-B.

et A) (B) |

6] \ Marginal Product Change in Total Cost per unit of change in output

(ii) | Short Run Relationship between inputs used and output
! produced by a firm
(iii) | Production function | Change in output per unit of change in the inputs.
(iv) Marginalicost ‘ Output per unit of variable inputs _j
(v) | Average producf \ Atleast one factor remain fixed and can not vary. J

ME-35 | 10
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34.

35.

36.

37,

38.

39

_ Observe the following diagram that shows Average Product (AP), Marginal Product

(MP) and Total Product (TP) curves.

Output
A
\ <
, , @) C Labour
(a) Identify Total Product, Average Product and Marginal Product curves. A3)
(b) State the law of variable proportion. : )

Explain the components of government budget.

Explain market equilibrium. Describe how supply and demand determines equilibrium
price and quantity in competitive market.

Write any two characteristics of public goods and private goods. Classify the following
into public goods and private goods. =

(a). National Defense (b) Clothes

(©) Govemmént admihistratiOn (d) Foods items

(¢) Public Transport - (H Car
How the exchange rate determined under a fixed exchange rate system with the help of
diagram ?
Qﬁestions from 38 to 41 carries 8 scores each. : : (4 x 8=32)

Describe ‘Income method’ and ‘Expenditure method’ for calculating National Income.

. List the ‘quantitative’ and ‘qualitative’ tools used for control the extent of money

supply. Explain any two quantitative tools.
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40. Explain Avefage Fixed Cost (AFC) and Average Variable Cost (AVC). Calculate Total
 Variable Cost (TVC), Average Variable Cost (AVC) and Short Run Marginal Cost

(SMC) from the following :

Eutput @

TFC \ TVC \ TC \ AVC | SMC

|
—% [w]| [©] |
IS N £ S
TZ 10\ \24 \
\—3 10‘ \29 ‘
e L0
R N T X S
R N L R

«— Budget line

Orange

0 M/P,

(a) Write the equation of budget line.

(b) Explain why the budget line is downward sloping.

(c) Describe optimal choice of the consumer with the help of diagram.

[
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